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II Kultur und Geschichte II

51- Der frithere Bundesverteidigungsminister zu Guttenberg hat trotz seiner -----—------ viele
Anhiinger in Deutschland.
1) Plagiataffire um die Doktorarbit
2) Verwicklung in eine Staatsaffire
3) Verwicklung in eine Spionageaffare
4) Verhaftung nach einer Affire rund um die deutsche Bank [
52- Das Ministerium, das fiir die Regelung der Fragen zu Emigration in Deutschland
verantwortlich ist, heiflit &
1) Das Auswiirtige Amt (Bundesaulenministerium)
2) Bundeswirtschaftsministerium
3) Bundesfamilienministerium
4) Bundesinnenministerium
53-  In Deutschland sind (ist) fiir die Einstellung der Richter und der Staatsanwiilte in den
Bundeskindern .... verantwortlich.
1) die Bundesregierung
2) die jeweiligen Linder
3) der Bundesjustizminister
4) der Bundes- und Landtag
54- Fiir den Schutz des Grundgesetzes und fiir die Begutachtung der mit dem Grundgesetz

verbundenen Streitfiille in Deutschland ist verantwortlich.
1) das Verfassungsgericht 2) das Bundesgericht
3) der Schlichtungsrat 4) der Wiichterrat
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60-

61-

62-

Welcher der folgenden deutschen Regisseure hat erstmals eine epische Form im Theater
verwendet?

1) Bertolt Brecht 2) Erwin Piscator

3) Fritz Lang 4) Wolfgang Peterson

Mit dem 1952 in Kraft getretenen Lastenausgleichsgesetz in der BRD sollten --—---eeeeeev
ausgeglichen werden.

1) Kriegs- und Kriegsfolgeschiden

2) die Vermdogensverluste der Unternchmen

3) die infolge der Lohnsteuer entstandenen Verluste der Emigranten

4) die von der Griindung der DDR entstandenen Schiden

Fiir die Fragen der Inflation und der Rezession in Deutschland und deren Bekanntgabe
ist verantwortlich.

1) das Bundesamt fiir Informationstechnologie

2) die Bundeszentrale fiir Informatik

3) der Bundesnachrichtendienst

4) das Statistische Bundesamt

Da die CDU/CSU bei der Bundestagswahl 2017 nicht die notwendige Mehrheit erhalten

hatte, musste diese politische Partei fiir die Regierungsbildung auf eine -—--—eeeeeeeee ?
mit anderen Parteien eingehen.

1) Frontation 2) Fraktion 3) Koalition 4) Legislaturperiode
Worum handelt es sich beim »Bafog«? Um --eceeeemeaee,

1) finanzielle Forderung der StudentInnen durch den Staat

2) eine Gegend., in der 6ffentliche Versammlungen verboten sind

3) eine in Deutschland zugelassene, kommunistische Partei

4) ein bundesweit operierendes Olfrderungsunternehmen

Jeder deutsche Biirger kann bei den Bundestagswahlen ------vnn-- -- Stimme|n| abgeben.

1) nur eine (fiir die Wahl einer Partei)

2) nur eine (fiir die Wahl des Abgeordneten)

3) zwei (eine fiir die Wahl des Abgeordneten und eine fiir die Wahl einer Partei)

4) drei (fiir die Wahl des Abgeordneten. der Partei und des Bundestagsprisidenten)

Welche Gruppe der Persinlichkeiten ist unter sogenanntem »Weimarer Viergestirn«

bekannt?

1) Goethe, Lessing, Eichendorff, Novalis

2) Wieland. Goethe, Herder. Schiller

3) Schiller, Kant, Lessing. Schleiermacher

4) Lessing, Goethe. Schiller, Humboldt

Welche Beschreibung der Reichspogromnacht ist richtig? In dieser Nacht --—-eeeeeeee "

1) wurde das Reichstagsgebiiude in Brand gesetzt

2) haben die alliierten Streiikrifte Berlin endgiiltig annektiert

3) fand in NS-Deutschland die sogenannte Biicherverbrennung statt

4) fingen in NS-Deutschland die direkten und gezielten Gewaltaktionen gegen die
Juden an

Was bedeutet die Abkiirzung AfD?

1) Alternative fiir Deutschland

2) Ausliinderfreies Deutschland

3) Arbeiterpartei fiir Deutschland

4) Aufgeklirtes freies Deutschland
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64-

66-

67-

68-

69-

70-

71-

72-

Vor welchem Konig und in welcher Stadt musste Martin Luther 1521 seine Thesen
verteidigen?

1) Vor Kaiser Maximilian I1. / in Braunschweig

2) Vor Kaiser Joseph 1. / in Regensburg

3) Vor Kaiser Friedrich II1. / in Aachen

4) Vor Kaiser Karl V. / in Worms

In der fritheren DDR gab es den sogenannten »Bausoldaten«, wer war ein Bausoldat?
1) Ein Wehrdientverweigerer. der ohne Waffe einen Ersatzdienst leisten musste.

2) Ein Soldat. der bei der 6ffentlichen Baustellen auf den Stralen Wache stand.

3) Ein Soldat, der in der Kiiche ciner Militdrkaserne dienen musste.

4) Ein Soldat, der vorrangig auf Kriegsgefangene aufpassen musste.

|| Wortschatz ||

AFD, FDP, Linke und Griine kimpfen noch bei den Bundestagswahlen um e¢ine gute
--- im Bundestag,

1) Alternative 2) Platzierung 3) Stellungnahme 4) Einstellung
Einigen Journalisten ist withrend G20-Gipfels in Hamburg nachtriiglich die bereits
erlaubte entzogen worden.

1) Auftrittserlaubnis 2) Amtsfithrung

3) Akkreditierung 4) Kampagne

Damit die Banknoten nicht -——eee werden konnen, haben sie besondere
Sicherheitsmerkmale wie das Wasserzeichen.

1) vervielfiltigt 2) identifiziert 3) gestohlen 4) gefiilscht

Uber eine Milliarde Menschen sich heute weltweit zum Islam.

1) duBern 2) bekennen 3) bewegen 4) passen

Zeigt man eine Person aus »unchrenhaften Beweggriinden« an, spricht man von -
1) Deprimieren 2) Verleumdung 3) Denunziation 4) Entlarvung

Il Grammatik I

Der in Argentinien -—-- -- und heute in Deutschland - ----- Politiker Achim
Hiibner hat in seiner politischen Laufbahn viel fiir Aufsehen gesorgt.

1) lebende --- verstorbene 2) lebende --- versterbende

3) gelebte --- verstorbene 4) gelebte --- versterbende

Das US-Hurrikan-Zentrum hat den zu cinem tropischen Tiefdruckgebiet ---eeeeeeeeaee -
bestiitigt, aber noch vor flbcrschwemmungcn gewarnt.

1) herabstufenden — anhaltenden 2) herabgestuften — angehaltenen

3) herabgestuften — anhaltenden 4) herabstufenden — angehaltenen

Stiindige Mehrarbeit und iiberméifliger Druck von Chefs verleiden -—------- -- Ausbildung.

1) viele Auszubildende ihre

2) vielen Auszubildenden ihre
3) viele Auszubildende ihrer
4) vielen Auszubildenden ihrer
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74- Welche Deutung des folgenden Satzes ist korrekt?
Eine rot-griine Regierung hiitte alles getan, um den Vertrag der EU mit der Tiirkei zu
verhindern.
1) Eine rot-griine Regierung gibt es definitiv nicht.
2) Eine rot-griine Regierung gab es schon mal.
3) Eine rot-griine Regierung wird es niemals geben.
4) Eine rot-griine Regierung gibt es wohl, sie will aber den Vertrag nicht verhindern.
75- In welchem Tempus steht der folgende Aktiv-Satz?
»Die Entscheidung, eine so uniiberlegte Politik zu treiben, wird vermutlich aus einem
heiteren Himmel gefallen sein«?
1) Prisens 2) Perfekt 3) Futur | 4) Futur I1

[ Textverstehen I

Die britische Regierung will laut einer Sprecherin von Theresa May die
Verhandlungen iiber den EU-Austritt mit Briissel intensivieren und so schnell wie
mdoglich iiber die kiinftige Beziehung zwischen Grofbritannien und der EU
verhandeln. Vorher werde sich die britische Regierung nicht auf eine Summe
festlegen, wie hoch die Verpflichtungen ihres Landes gegeniiber der EU aus bereits
gemachten Zusagen sind. sagte sie. Briissel besteht darauf, es miisse ausreichender
Fortschritt unter anderem hinsichtlich der finanziellen Fragen gemacht werden. bevor
iiber die kiinftige Bezichung gesprochen werden kann.

76- Der Text verweist implizit auf das Thema ,----eeeeeeee ™
1) Austritt Grolibritanniens aus der EU
2) Antrag Grofibritanniens auf EU-Austritt
3) Ablehnung des Antrags Grofibritanniens auf EU-Austritt
4) Widerstand in der EU gegen EU-Austritt Grofibritanniens
77-  Der Text besagt, dass
1) alle Modalititen zum EU-Austritt (Jroantdnans schon erledigt sind
2) bis jetzt keine Verhandlungen zum EU-Austritt GroBbritanniens stattgefunden haben
3) iiber Modalititen zum EU-Austritt Grofibritanniens noch verhandelt werden muss
4) GroBbritanniens hartnickig auf den Beginn der Verhandlungen zum EU-Austritt pocht
78- Der wichtigste in dem Text erwiihnte Punkt ist
1) die Ablehnung des von GroBbritanniens vorgeschlagenden F mdnmusulcuhs durch EU
2) die Klirung der finanziellen Verpflichtungen GroBbritanniens gegeniiber der EU
3) die Verwicklung GroBibritanniens in eine finazielle Krise nach dem EU-Austritt
4) der Schuldenberg in der EU durch den EU-Austritt GroBbritanniens
79-  Der Text will implizit darauf verweisen, dass "
1) die EU GroBbritanniens vom EU-Austritt abhalten will
2) sich die EU mit dem EU-Austritt Grofibritanniens abgefunden hat
3) die EU den Antrag Grofibritanniens auf EU-Austritt noch iiberpriifen soll
4) die EU auf Forderungen GroBbritanniens im Falle des EU-Austritts eingehen will
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80- Dem Text entnimmt man, dass %
1) Grofibritanniens seine finanziellen Verpflichtungen nach dem EU-Austritt schon
erfiillt sieht und diese nicht mehr mit EU verhandeln will
2) Grofibritanniens seine finanziellen Verpflichtungen gegeniiber der EU nicht mit
dem Thema ,.EU-Austritt” in Verbindung setzen will
3) sich GroB3britanniens mit EU iiber die finanziellen Verpflichtungen geeinigt hat
4) GroBbritanniens auf die finanziellen Forderungen der EU noch nicht eingegangen ist

bl 5 j &) i Y (G ol Kty 5 ) U 5 il 5L

81-  ;Qué fue el Tratado de Ryswick?

1) el tratado de paz que da fin a la Guerra de los Nueve Aios. por lo cual todos los
territorios volverian a sus respectivos duefios

2) el tratado que establecio las fronteras entre los territorios espaiiol y francés en la isla
La Espanola, en el mar Caribe.

3) el tratado que puso fin a la guerra con Holanda.

4) el tratado que puso fin a la Guerra de la Convencion entre Espana y Francia que se
habia iniciado en 1793 y que habia resultado un desastre para la monarquia

espaiiola,
82- ;A qué pais se refiere “Una isla, dos colonias™?
1) Cuba 2) Santo Domingo 3) Martinica 4) Haiti
83- El Consejo de Indias se establecio con el fin de —-—-meememmv,

1) acabar la Guerra de Cartagena.

2) defender de los derechos de los esclavos.

3) la unificacion de los intereses de las provincias americanas.

4) la concentracion de mercados en los que se comercializaba la produccion

84- ;Quiénes fueron Los Chicago Boys?

1) un grupo de economistas jovenes que desde 1975 lograron las riendas de la
economia chilena, aplicando los principios econOmicos neoliberales en su version
mas ortodoxa.

2) un grupo de guerrilla que desde 1959 obtuvieron las riendas de la politica chilena,
siguiendo el modelo capitalista revolucionario norteamericano.

3) un grupo de politicos jovenes, aplicando un proceso de institucionalizacion del
régimen chileno.

4) un grupo de economistas revolucionarios , teniendo en cuenta el modelo econdmico
curopeo en su version mas catolica.

85- Elleninismo proponia --—----eceee-- i

1) una politica tradicional y de la institucionalidad democratica.

2) la premisa bolchevique de transformar la guerra europea en una gran guerra civil.

3) un activismo revolucionario con las senales del parlamentarismo estricto.

4) la expresion de la presencia o el peso abusivo de los militares en la esfera politica
de los diversos paises.
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86-

87-

88-

89-

90-

91-

- Qué fue la Teologia de la Liberacion?

1) la fastuosamente proclamada Independencia Economica, mediante la cual se pretendia
favorecer y garantizar la llegada de inversiones extranjeras por la intervencion de la
ideologia eclesiastica.

2) la proliferacion del mutualismo, donde sus reivindicaciones tendrin efectos movilizadores
y multiplicadores, reuniendo en su seno a las ideologias libertadores catolicas.

3) la independencia de la sociedad latinoamericana que se consideraba una sociedad
dual, es decir, una sociedad que se caracteriza por tener dos mundos libres en uno
dentro del mismo espacio geografico. pensando en destacar el papel de la iglesia.

4) la reflexion: apoydndose en la doctrina social de la Iglesia y en una hermenéutica
marxista de los textos biblicos: sobre la explotacion econémica, politica, ideolégica
y cultural que oprimia y deshumanizaba a la poblacion americana.

Una de las practicas mas frecuentes y cruel de eliminar a los enemigos durante las

dictaduras de la década de los setenta del siglo veinte, en la llamada Guerra sucia, se

realizO mediante la desaparicion. Segin Amnistia Internacional el concepto

“desaparecido” hizo su entrada en el vocabulario de los derechos humanos en --—--=reenv |

1) Cuba, en 1974, un paradigmatico ejemplo de la politica de extirpacion de aquello
que los militares entendian como un cancer social.

2) Guatemala en 1966, cuando el gobierno comenzo, en secreto, a deshacerse de la
oposicion politica.

3) Chile en 1973. con aquellas terribles y masivas violaciones de los derechos
humanos cometidos.

4) Bolivia en 1983, cuando los derechos humanos mas elementales habian sido
violados por el gangsterismo de Estado.

"Terminé la escuela y se dedicé a la filosofia" y "No trabaja mucho y gana mucho

v

dinero" son proposiciones que presentan coordinacion copulativa tipo:

1) concesion. sucesion 2) adversatividad. sucesion

3) simultaneidad, causa 4) sucesion, concesion

Es una de esas personas que no se conforma -------eeeeee lo que digas, siempre estd
preguntando el porqué.

l1)a 2) de 3) con 4) por

El Mester de Clerecia en lo formal debe demostrarse por medio del uso de --—--—--=--=--
1) los versos octosilabos 2) la cuaderna via

3) los cancioneros 4) soneto

. Cual de las siguientes definiciones corresponde a la Contrarreforma?

1) la respuesta de la Iglesia catdlica dada a la reforma protestante de Martin Lutero.

2) la reforma de la Iglesia Catolica propuesta por Concilio de Trento.

3) la reaccion de la Iglesia protestante ante el catolicismo presentado por Concilio de
Trento.

4) la propuesta de la iglesia protestante para reducir el control de la iglesia catolica
dada por Martin Lutero.
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92-

94-

95-

96-

97-

98-

99-

Los poetas de la generacion del 27 ——-eeeeeeeeaee,

1) buscaban el alma verdadera del espaiiol en la “intrahistoria®, en el paisaje interior
de la comunidad.

2) expresaban indiferencia ante la injusticia cruel y la mezquindad del ser humano.

3) ofrecian una ventana hacia la vida diaria, arida, violenta, amarga y monoétona de los
pequenos pueblos de Castilla.

4) buscaban usar el lenguaje de forma innovadora y revelar a través de €l realidades y
significados inaccesibles a través de la logica o el conocimiento cientifico.

Tradiciones peruanas es la obra destacada de —----—-neveee- X

1) Ricardo palma 2) Mario Vargas Llosa
3) Domingo Faustino Sarmiento 4) Eduardo Galeano
El Tremendismo es --==--=-—nnmm- i

1) la primera corriente literaria posterior a la guerra civil espaiiola

2) la escuela literaria anterior del Romanticismo espafol.

3) una de las ramas del naturalismo del siglo XIX.

4) una corriente filosofica dentro del neorrealismo.

inevitable que estudiara muy duro para los eximenes a fin de que ------=-va-=-
buenas notas en sus asignaturas.

1) Era, saque 2) Fue, saque

3) Era. sacara 4) hubiera sido, sacara

Una de las creencias mas antiguas en este pais, --—-----=emnv poco se habla de ello de
MANETa ~==-=ceeeme- -- es la creencia en los gafes.

1) a pesar de que, obvia 2) si bien, clarividente

3) sin embargo, esforzada 4) aun que, abierta

El esperpento es la técnica , en la cual, el escritor ---e-eeeeeeeeee,

I) mira a sus personajes desde arriba, como seres inferiores. El escritor asume la
posicion de un dios, indiferentes a las penas de sus creaciones.

2) busca una ruptura con la tradicion que, de una forma u otra, rechaza la racionalidad
convencional.

3) entremezcla objetos, conceptos y sentimientos que la razon mantiene separados:
aparecen asociaciones libres e inesperadas de palabras.

4) describe a la gente y la vida de su region natal y demuestra su amor al campo v sus
preocupaciones ecologicas.

oQué es el ubi sunt?

1) una técnica para recordar a los grandes o privilegiados de una época pasada o
historica, pero el autor se sirve de personajes de la historia inmediata de Espaia.

2) una técnica para representar la muerte como grotesca o desagradable, un personaje
mas docil frente a su padre.

3) una caracteristica para demostrar la potencia bondadosa de la Virgen Maria y los
beneficios de rendirle culto.

4) una caracteristica para presentar temas moralizantes enmarcados dentro de situaciones
cotidianas, familiares y amenas para los oyentes.

iPensemos en otra soluciéon o dejemos todo eso a un lado!

Es una oracion:

1) subordinada. disyuntiva 2) subordinada, yuxtapuesta

3) coordinada, disyuntiva 4) coordinada yuxtapuesta
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100-

101-

102-

104-

105-

106-

107-

108-

109-

110-

----------- urgente que -----------—-- todo el esfuerzo para terminarlo.

1) Era, hicieran 2) Fue, hicieran 3) Fue. hagan 4) Era, haran

Y digo versos por fin, y vomito disparates, y los celebran, y crece la bulla y ¢l humo y el
infierno.

Es una oracién:.

1) sencilla, coordinada disyuntiva 2) compleja, yuxtapuesta

3) sencilla, coordinada copulative 4) compleja, polisindeton

La americanizacion real del pensamiento marxista en el siglo XX es una de las aportaciones
de ———————-—- que trat6 de incorporar a las masas populares, fundamentalmente indigenas, a
un proceso de liberacion nacional y clase simultinea.

1) José Marti 2) José Carlos Mariategui

3) Ernesto Che Guevara 4) Simon Bolivar

El semiautoritario y clientelismo es una de las caracteristicas de

1) la dictadura de la década setenta del siglo XX.

2) el populismo del siglo XIX durante las guerras de independencias.

3) el populismo surgido en América Latina después de la crisis de 1929.

4) la dictadura surgida durante la formacion de las naciones americanas a partir de
1800.

Las diversas organizaciones de oposicion al FSLN coordinadas por la CIA que contara

con unas milicias pagadas por los norteamericanos era llamada --—-------—--

1) la Contra 2) la Guerra de Baja Intcnsnddd

3) el Sandinismo 4) los Cordones Sociales

El libro Civilizacion y barbarie: vida de Facundo Quiroga es la obra maestra del escritor

argenting —------eeeeeeee >

1) Horacio Quiroga. 2) Julio Cortazar

3) Jorge Luis Borges 4) Domingo Faustino Sarmiento
La primera vuelta al mundo por primera vez se realizé por -----=-eeeee- -

1) Américo Vespucio 2) Cristobal Coldén

3) Juan Sebastian de Elcano 4) Fernando de Magallanes

El libro Me llamo Rigoberta Menchii y asi me nacio la conciencia es un libro que pertenece a
Ia o — ]

1) literatura testimonial 2) literatura vanguardista

3) literatura del boom 4) literatura colonial

Me visitaba en la cafeteria cada dos por tres.

1) Raramente 2) Nunca 3) Frecuentemente  4) Acompasadamente
“fanfarronada” es sinénimo de:

1) valentia 2) Bravuconeria 3) valeroso 4) maton

Fui a la misma escuela, donde mi actor favorito ——----eeceeeee-,

1) debia ir 2) debe ir 3) debio de ir 4) debiera ir
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| PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

The Asian migration hypothesis is today supported by most of the scientific evidence.
The first "hard" data linking American Indians with Asians appeared in the 1980s with
the finding that Indians and northeast Asians share a common and distinctive pattern in
the arrangement of the teeth. But perhaps the most compelling support for the
hypothesis comes from genetic research. Studies comparing the DNA variation of
populations around the world consistently demonstrate the close genetic relationship of
the two populations, and recently geneticists studying a virus sequestered in the
kidneys of all humans found that the strain of virus carried by Navajos and Japanese is
nearly identical, while that carried by Europeans and Africans is quite different.

The migration could have begun over a land bridge connecting the continents.
During the last ice Age 70.000 to 10,000 years ago. huge glaciers locked up massive
volumes of water and sea levels were as much as 300 feet lower than today. Asia and
North America were joined by a huge subcontinent of icefree, treeless grassland, 750
miles wide. Geologists have named this area Beringia, from the Bering Straits.
Summers there were warm. winters were cold. dry and almost snow-free. This was a
perfect environment for large mammals—-mammoth and mastodon, bison, horse,
reindeer, camel, and saiga (a goatlike antelope). Small bands of Stone Age hunter-
gatherers were attracted by these animal populations, which provided them not only
with food but with hides for clothing and shelter, dung for fuel. and bones for tools and
weapons. Accompanied by a husky-like species of dog, hunting bands gradually
moved as far east as the Yukon River basin of northern Canada. where field
excavations have uncovered the fossilized jawbones of several dogs and bone tools
estimated to be about 27.000 vears old.

111- What does the passage primarily discuss?

1) Why the first people crossed into North America from Asia

2) The movement of Asians to a faraway continent

3) An interesting phenomenon that occurred 70.000 years ago

4) The way of life of American Indian tribes in early North America
112- In paragraph 1, the author supports a hypothesis by «---ceeceeees,

1) referring to the results of several studies

2) presenting his research on DNA variations

3) comparing Indians and northeast Asians in terms of their body shape

4) describing the evolution of teeth in our ancestors
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113- The author mentions “the strain of virus” in paragraph 1 to suggest that --——-—-—-— 2
1) science has enabled geneticists to make amazing discoveries about genetic
relationships between populations
2) Europeans diverged genetically from Africans
3) Navajos might have been susceptible to the same diseases as Japanese were
4) there might have been an ancestral link between people from two different
continents
114- How could hunting bands have migrated into the North American continent?
1) By detouring around huge glaciers
2) By following a woodland trail
3) By walking on a path covered with grass
4) By using a land bridge near massive volumes of water
115- There is sufficient information in paragraph 2 to answer which of the following questions?
1) Why did Stone Age tribes set foot in Beringia?
2) Why did sea levels start to rise?
3) When were the 27.000-year-old dog fossils discovered?
4) How did the passing of Ice Age affect hunting patterns?

PASSAGE 2:

The pyramids of Egypt were built more than three thousand years ago, and no one
knows how. The conventional picture is that tens of thousands of slaves dragged
stones on sledges. But there is no evidence to back this up. Now a Californian software
consultant called Maureen Clemmons has suggested that kites might have been
involved. While perusing a book on the monuments of Egypt. she noticed a hieroglyph
that showed a row of men standing in odd postures. They were holding what looked
like ropes that led. via some kind of mechanical system, to a giant bird in the sky. She
wondered if perhaps the bird was actually a giant kite, and the men were using it to lift
a heavy object.

Intrigued, Clemmons contacted Morteza Gharib, acronautics professor at the
California Institute of Technology. He was fascinated by the idea. 'Coming from Iran. I
have a keen interest in Middle Eastern science.' he says. He too was puzzled by the
picture that had sparked Clemmons's interest. The object in the sky seemed to have
wings far too short and wide for a bird. "The possibility certainly existed that it was a
kite." he says. And since he needed a summer project for his student Emilio Graff.
investigating the possibility of using kites as heavy lifters sounded like a good idea.

Gharib and Graff set themselves the task of raising a 4.5-meter stone column from
horizontal to vertical, using no source of energy except the wind. Their initial
calculations and scale-model wind-tunnel experiments convinced them they wouldn't
need a strong wind to lift the 33.5-tonne column. Even a modest force, if sustained
over a long time, would do. The key was to use a pulley system that would magnify
the applied force. So they rigged up a tent-shaped scaffold directly above the tip of the
horizontal column. with pulleys suspended from the scaffold’s apex. The idea was that
as one end of the column rose, the base would roll across the ground on a trolley.

116- What is the author’s attitude toward the common belief about the construction of
Egyptian pyramids?
1) Amused 2) Critical 3) Skeptical 4) Neutral
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117- The passage states that Clemmons ---
1) published a book that was enjoyed by redderb
2) proposed a theory that was apparently later tested
3) found a strange hieroglyph on the wall of an Egyptian monument
4) contacted Gharib because she was aware of his interest in Middle Eastern science
118- The word “sparked” in paragraph 2 is closest in meaning to —------euex 5
1) assumed 2) intimidated 3) manifested 4) inspired
119- What did Gharib and Graff need to lift the 4.5-meter stone column?
1) A moderate but persistent wind
2) A source of energy other than the wind
3) A trolley to carry its top and bottom ends
4) Equipment to move it from an upright position
120- Which of the following best describes the function of the underlined sentence in
paragraph 3?7
1) It traces the development of the pulley system.
2) It explains how something mentioned in the previous sentence was built.
3) It explains the significance of an experiment discussed earlier in the passage.
4) It demonstrates the difficulty of rigging up a tent-shaped scaffold above a column.

PASSAGE 3:

The war for independence from Britain was a long and economically costly conflict.
The New England fishing industry was temporarily destroyed, and the tobacco
colonies in the South were also hard hit. The trade in imports was severely affected.
since the war was fought against the country that had previously monopolized the
colonies' supply of manufactured goods. The most serious consequences were felt in
the cities, whose existence depended on commercial activity. Boston, New York.
Philadelphia, and Charleston were all occupied for a time by British troops. Even
when the troops had left, British ships lurked in the harbors and continued to disrupt
trade.

American income from shipbuilding and commerce declined abruptly undermining
the entire_economy of the urban areas. The decline in trade brought a fall in the
American standard of living. Unemployed shipwrights, dock laborers, and coopers
drifted off to find work on farms and in small villages. Some of them joined the
Continental army. or if they were loyal to Britain, they departed with the British
forces. The population of New York City declined from 21.000 in 1774 to less than
half that number only nine years later in 1783.

The disruptions produced by the fighting of the war, by the loss of established
markets for manufactured goods. by the loss of sources of credit. and by the lack of
new investment all created a period of economic stagnation that lasted for the next
twenty years.

121- What is the main topic of the passage?
1) How American cities began and developed
2) The changing definition of a war
3) The efforts of the British to gain independence
4) How a war affected a country
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122- The word “whose” in paragraph 1 refers to ———-—--eeeeu Y
1) activity 2) consequences 3) cities 4) goods

123- Which of the following best expresses the essential information in the underlined
sentence in paragraph 27
1) A sudden decrease in American income form shipbuilding and commerce
weakened the entire economy of the cities.
2) American income from shipbuilding and commerce was too low because cities
undermined the entire economy.
3) Because the entire economy of the cities depended on shipbuilding and commerce,
American income declined abruptly.
4) Undermining the entire economy of the cities had a negative effect on American
income from shipbuilding and commerce.
124- Why does the author mention shipwrights, dock laborers, and coopers in paragraph 2?
1) To compare three types of jobs in terms of payment
2) To give examples of employees controlled by British forces
3) To explain how they responded to the loss of their jobs
4) To show that they remained loyal to Britain in spite of being unemployed
125- All of the following probably occurred during the years right after the war for
independence EXCEPT --—---vemm- -
1) the absence of new investors
2) a shift to an agricultural economy
3) a drop in the population of some cities
4) shortages of money and manufactured goods

NSl U ) Ll pr S 5 9 20 )b

126- Which of the following about the period ‘austerity’ after World War Il is not correct?
1) It featured the Festival of Britain in 1947.
2) It lasted for ten years from 1945 to 1955.
3) It started with the victory of Clement Atlee as PM.
4) It was a time of rationing and conscription.
127- Which of following points about the modern ‘development’ of the UK as an ‘Empire’ is
not correct?
1) There are 13 former British colonies which continue to be ruled by the UK today.
2) Britain's control over its Empire was considerably consolidated during the interwar
period.
3) The UK granted Australia, Canada, and New Zealand “Dominion” status Between
1867 and 1910.
4) Beginning with the independence of India and Pakistan in 1947, the remainder of
the British Empire was almost completely dismantled.
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128- Which of the following order of events in modern British history is correct?
1) Reign of Edward VII->Easter Rising in Dublin=>Women twenty-one and over
granted voting rights
2) Easter Rising in Dublin=>Women twenty-one and over granted voting rights—>
Reign of Edward VII
3) Reign of Edward VII-> Women twenty-one and over granted voting rights=> Easter
Rising in Dublin
4) Easter Rising in Dublin>Reign of Edward VII->Women twenty-one and over
granted voting rights
129- Which of the following about the Provisional Irish Republican Army is correct?
1) The IRA's primary goal was to force the United Kingdom to negotiate a withdrawal
from Northern Ireland and the Isle of Man.
2) The Provisional IRA emerged in the late 1940s following a split in the republican
movement in Northern Ireland.
3) The IRA initially focused on defence of Catholic areas in Northern Ireland. but
began an offensive campaign against British rule in 1971)
4) It sought independent status for Northern Ireland as a sovereign state free from both
British and Republic of Ireland rule.
130- British Prime Ministers in the 1960s were, in the correct order, ---------
1) Alec Douglas-Home=> Harold Macmillan->Harold Wilson
2) Harold Macmillan=> Harold Wilson = Alec Douglas-Home
3) Alec Douglas-Home=>» Harold Wilson=> Harold Macmillan
4) Harold Macmillan=> Alec Douglas-Home=> Harold Wilson
131- Which of the following about the British PM Margaret Thatcher (1925-2013) is not
correct?
1) She had been appointed as Foreign Secretary in the Conservative government of
Edward Heath from 1972 to 1974)
2) She survived an assassination attempt in 1984)
3) She was the longest-serving British prime minister of the 20th century and the first
woman to have been appointed.
4) She was Leader of the Conservative Party from 1975 to 1990.
132- Which of the following about ‘New Labour’ (referring to a period in the history of the
British Labour Party) is correct?
1) It was presented as the brand of a newly reformed party that had altered Clause IV
of the Labour Party constitution and rejected market economics.
2) Its political philosophy of New Labour was influenced by the party's development
of Anthony Giddens® *Third Way".
3) It emphasised the importance of equality, rather than social justice emphasising the
need for equality of opportunity.
4) It made significant gains in the upper and middle-classes effectively giving it a
landslide victory at the 2010 general election.
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133- Which of the following about the ‘Scottish Parliament’ is not correct?
1) The original Parliament of Scotland existed from the early 13th century until the
Acts of Union 1707.
2) The Parliament of Scotland ceased to exist as a result of the Acts of Union 1707.
3) The first meeting of the new Scottish Parliament took place in 1999.
4) The new Scottish Parliament today has the power to legislate in all areas on a par
with the British Parliament at Westminster.
134- The National Assembly for Wales (the Welsh Assembly) ~=--eeeeeeenee,
1) works in tandem with the Scottish Parliament as part of the Scottish-Welsh
Assembly for important legislation
2) does not legally represent north Wales (which is technically still an English
constituency)
3) had no powers to initiate primary legislation until 2006 when limited law-making
powers were gained
4) was created by the Government of Wales Act in June 1982, which followed a
referendum in 1980.
135- All the following about the Falklands Island / Falklands War between Great Britain and
Argentina are correct except that the -—----eeaeeeev,
1) War took place in the third year of Margaret Thatcher’s first premiership
2) War was officially declared on Great Britain ahead of the conflict
3) Falklands Island has been a British colony since 1841
4) Falklands War lasted for only ten weeks
136- The Democratic Unionist Party (DUP) in Northern Ireland --—--—eeeeeeee,
1) was founded in 1971 during the Troubles
2) is a left-wing and socially liberal party
3) is pro-Republic of Ireland in its politics
4) campaigned for the 1998 Good Friday Agreement

137- The reforms arising from the Local Government Act of 1972 resulted in ----eeeveeeeen,
1) the most uniform and simplified system of local government which has been used in
England

2) an advanced system of government administration through small constituencies

3) the nationwide reform of large constituencies in terms of their representation in
Parliament at Westminster

4) the integration of local governments in Britain and those in the European Economic
Community

138- Which of the following about the British Overseas Territories (BOT) is not correct?

1) They are distinct from both the Commonwealth realms and the Commonwealth
nations.

2) They are the parts of the British Empire that have not been granted independence or
have voted to remain British territories.

3) They form part of the United Kingdom and, with the exception of Gibraltar, are part of
the European Union.

4) They internally self-governing, with the UK retaining responsibility for their defence
and foreign relations.
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139- The Maastricht Rebels were British members of Parliament (MPs) belonging to the
who refused to support the government of Prime Minister ----- in a series of votes in
the House of Commons on the issue of the implementation of the Maastricht (Treaty on
European Union) in British law.

1) Labour Party / John Major 2) Conservative Party / Margaret Thatcher
3) Labour Party / Margaret Thatcher 4) Conservative Party / John Major

140- Which of the following about the history of Scottish devolution is not correct?

1) Scottish voters were given the chance to vote 'Yes' on outright independence in a
2014 referendum.

2) The Office for Scottish devolution has been in operation in the British House of
Commons since the 1950s.

3) The Scottish Office and the post of Secretary for Scotland were created in the late
19th century.

4) The people of Scotland first got the opportunity to vote in a referendum on
proposals for devolution in 1979.

() Hbj ) daawgy Sipyd 9 o )b g ) Hbj

A. I'paMMaTHKa PYyCCKOIo si3bIKA:

’ HUucrpykuusi: B kazaom Bonpoce Bbibepure NpaBH/bHbIH BAPDHAHT.

141- 3a aBa rojfa, ------e-seeeeee on nposest Ha Cesepe, 0OH MHOTOMY HAYHMHJICH.

1) orkyna 2) KOTOpHIii 3) Kyaa 4) uro
142- ABTOp 14€T CBOE NOHHUMAHHE ===mmmmmmmmmmm A

1) a1oit npodiemb 2) k o70ii npobaeme

3) Ha 31y npobaemy 4) s 910it npodiemsl
143- 5 OKOHYHI IKOJAY M =-=memmemmeeen NOCTYIIT B YHHBEPCHTET.

1) Tpéx ner 2) Tpu roja

3) cinycrs TpH rojaa 4) k TpéM roaam
144- B kaxom psjiy Bee CYIECTBHTEAbLHBIC OYIIEB/IeHHbIC?

1) pyka, Opar, Jucuua 2) KyKJ1a, KOHb, MaMa

3) napoj, nTuua, nojapyra 4) cembi, VK, JI0YKa

145- OrmersTe HENMOCTOSIHABIC NPH3HAKH BHUICICHHBIX HMCH NPIVIATATEIBHBIX B IPE/LI0KCHHN:
«Kak senoamn B Ho4HOM Tymane, serai nosbtii roa, CYPOB u CJUIEI».
1) orHocuTenbHOE, KpaTKas dopMa, M. p.
2) KauecTBEHHOE, KpaTkas dopma
3) kpatkas dopma. €1.4.. M.p.
4) nonuas popma. €1.4., M.p.
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146-

147-

B kakom HPELTORECHHH MOKHO BLUACAHTL CJI0BOCOMETAHNE C ll()il‘lllllll'l'&'ll)lloﬁ CBH3ILIO
COI'VIACOBAHUME?

1) POcHHKH najaioT HEJIOBKHE,

2) B TeMHOTE ros1oca yMOJIKIH.

3) 3uma B ropojiax HeKa3ucTa.

4) Kak nsliiiHo ¥ rpo3HO NbLIAIT KYPTHHBI!

Kalﬂl(‘ JIaAroJibl SBJisiOTCH Bll,'lOB()ﬁ napoii'.’

1) BapuTh — NEPEBApUTH 2) BBIXOUTH — BhIITH

3) nerb — 3anerb 4) nexars — 1noJiexKarsb
Crpazare/ibHbIC NPHYACTHS NPOMIC/IIICI0 BPeMeHn odpasyores npu noMomn cypdnrca:
1) —yu-— 2) —Bil— 3)—em— 4) —HH—
Viamure BApHAHT € OIHO0MHBIM COMCTAHHEM CODHPATEILHOI0 YHCIHTEILHOTO.
1) ABOE jIEBOUEK 2) aBoe pedar 3) ABOE HAC 4) 1BOE BHYKOB
He Haj0 ——mmemeeee €ro B yroJi, HHA4e TPYAHO OY/1eT KOHTPOJIHPOBATD €10,

1) orornars 2) BBITOHATH 3) 3aroHAThH 4) BroHsThH

B kaxkom ciioBe 3BykoB Do.ibmie, yem 6yks?

1) s136140K 2) BepreTh 3) OyJIbOH 4) cembs

B kakom caose 3A- e aBasiercs npucTaBkoii?

1) 3anbuINThL 2) 3aKpbIThH 3) 3apwITh 4) 3a0bITH

b. Pycckasi ncropus u KyasTypa:

Hucrpykuus: B kaxaom Bonpoce Boifepure npaBHiabLHbIH BapHAHT.

158-

B «Caose 0 noaky Hropese» noBecTBYETCs 0 OX0/1€ PYCCKHX KHIZCH NPOTHEB ~=cammneees,
1) rarap 2) xasap 3) nonoBues 4) neyeHeros

Bo Bpemsi npaBAeHHNA --—----------= B KAYECTBE CHMBOJIA PYCCKOT0 TocCyaapcrBa Obui
INPHHAT rep6 B BH/C ABYIVIABHOIO OpJia.

1) UBana IV 2) Usana ll1 3) Ilerpal 4) Exarepunni 11

Kakoe npomspeaenne nanucaa JLH. Toacroii B namars 06 yuacrun B Kpbimckoii
Boiine?

1) «Kazaku» 2) «Boiina u Mup»
3) «KaBka3cKuii INICHHHUK» 4) «CeBacTono/iIbCKHE paccKasbi»
B ocnosy «Ilecnn o Bemem OJrere» JeKHT CIOKET, 3AHMCTBOBAHHBIHN -mmmmmmmmmme :

1) u3 «Cnosa o nonky Hropese»

2) u3 «lloBecTH BpeMEHHBIX J1€T»

3) u3 «Knrus Ceprus Pajonexckoro»

4) u3 «lloyuenns Baaanmmpa Monomaxa»

Koraa 0su1 co3aan nepsoiii napaament 8 Poceun (Focyaapersennas Tyma)?
1) B nauane 20 sexka (npu Hukonae II)

2) B konue 20 seka (npu b.H. Easunne)

3) B nauane 21 seka (npu B.B. [lyrune)

4) B cepeanne 19 Bexa (npu Aznexcanape II)

Koraa Pyes npuunsiia xpucrnancrso?

1)8999 r, 2)B995 1. 3)B988r. 4)8 899 .
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159- Cospanne MOCKOBCKOIO YHHBEPCHTETA CBH3AHO € AEHTEAbHOCTBIO ==mnmmmmmuaun -
1) M.B. Jlomonocosa u M. U. lllyBanosa
2) H.U. Hosukosa u Exatepunni 11
3) A. T. bonorosa u E.P. JlamkoBoii
4) ®@. [1poxomnosnua u [lerpa |

160- Kakomy pycckomy mouapxy nocssimen namsiruuk B nodve ALC, Mywxkuna «Meanbiii

BCATHUEK» ?
1) Anexcanap Hesekuid 2) Ilerp Ilepehiii
3) Exarepuna Bropas 4) UBan I'po3Hblii
161- Poajicnne pycckoro Tearpa OTHOCHTCS K NEPHOLY HAPCTBOBAHHN ~=--mnmemmemeas,
1) bopuca ['oaynosa 2) Muxauna ®egoposnya
3) Bacwaus Ilyiickoro 4) Anekces Muxaiiziopuua
162- Kak sHazbiBajach nepsas nevaTHas razera, Koropas crajaa maasarscs upu Herpe I?
1) «Kypantsi» 2) «Beaomocti»
3) «MOCKOBCKHE HOBOCTH» 4) «l IpaBuTEIBLCTBEHHBIIT BECTHHK»
163- C pedopmavu Ierpa | essizano nossienne B Poceum ———-meeeeeaeee,
1) 1nneen 2) accamOeii
3) MOCKOBCKOTr0 YHUBEpCHTETA 4) CnaBgHO-rpeKo-I1aTHHCKOI aKaleMHH
164- BoiBo cOBETCKHX BOHCK H3 APranseTana HAYAICH --mmemmemmeaes i
1)B 1989 1, 2) BecHoit 1990 r.
3) BecHoii 1988 1. 4) nerom 1991 r.
165- Kussze Baaguvup MoHoMAaX SBASVICH ABTOPOM ==seemmmmeennn,
1) «lToyuenus geram» 2) «Caosa o nonky HUropese»
3) «Ommccen» 4) «Octpomuposa EBanrenus»
166- M.C. I'opbaues obr1 m3bpan npesnaentom CCCP B 1990 r, —--mmmmmemeeee .

| ) BCEHApOHBIM FOJIOCOBAHHEM
2) na cbesjie npeaAcTaBuTeIei 0T perHoHOB
3) na Il Coesae napoausix aenyratos CCCP
4) na Ypessoiuaitnoii ceccun Bepxosuoro Cosera CCCP
167- lorosop 06 obpaszosannn CHI' 6611 noanmecan 8 1991 r. —meeemeeeees -
1) Poccueii u Kazaxcranom
2) Poccueii u bestopycceueit
3) Bcemu pecnybnukamu CCCP
4) Poccueii, Ykpaunoii, beaopyccueii n Kazaxcranom

168- Tlociie emeprn JLLU. Bpexuesa B 1982 1. nocr resepanbuoro CeKperaps 3ausl —---------- :
1) 10.B. Anaponos 2) K.Y. Yepuenxko
3) M.C. I'opbauen 4) b.H. Enbumn
169- Asapus na YepnodbrLibekoii ADC npoH3onuia B ——--eeeeeeee-,
1) 1987 r. 2) 1985 . 3) 1986 1. 4) 1988 .
170- IOpwnii I'arapus moJ1eTes B KOCMOC ====mmmemmenm,
1) 12 anpens 1963 r. 2) 12 anpens 1960 r.
3) 12 anpens 1962 r. 4) 12 anpens 1961 r.
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Partie A: Francgais général

Trouvez la bonne réponse:

i O | des piéges qu'on ---==-=e-emee=- tendait.
1) se sont ri / leurs 2) se sont ris / leur
3) sesont ri/ leur 4) se sont ris / leurs

172- Dans la phrase: «ll travaille trés dur pour s’offrir une voiture», la préposition «pour»
s’emploie —--emmemmeeee |

1) pour indiquer un but

2) pour indiquer une cause

3) pour introduire un complément de nom

4) pour introduire un complément de I"adjectif

173- Nous aurions bien voulu faire une promenade en forét, ——------n-nn- --, il faisait un temps
épouvantable. Nous sommes wneene restés 2 la maison.
1) Aussi / cependant 2) Or / donc
3) Ainsi / dés lors 4) Alors / ainsi
174- Toute copie faite sans I"accord de 'auteur ou de ses ----—-—-—-— est illicite.
1) ayant droits 2) ayant droit
3) ayants droits 4) ayants droit
175- Les réves, =—======mm==- -- soient, ont une signification cachée.
1) quel qu’ils 2) quelqu’ils 3) quels qu’ils 4) quelles qu’ils

176- Trouvez la phrase correcte.
1) Lesdits contrevenants ne sont pas présentés au tribunal.
2) Le réalisateur du dit film n’a plus rien tourné depuis.
3) Au dit signal. que tout le monde se léve.
4) La dite robe n’existe plus qu’en 34.

177- Rejoignez-moi -------=--=- --- salle de réunion --------------- yous aurez terminé.
l)dans la/quand 2)ala/qu'en 3) en/ lorsque 4) par la/ si
178- 1l offre des cadeaux a ses clients ety —=——-amaaeaeeee %
1) se faisant, se I’attache 2) ce faisant, se les attache.
3) se faisant, se les attaché 4) ce faisant, se I'attache

179- Trouvez la phrase correcte.
1) Dans I'idéal, il faudrait un technicien supplémentaire, voir deux.
2) Les vendredis soirs, I'équipe se réunit pour faire le bilan de la semaine.
3) Pour certains, I'éloignement éteint les passions: pour d’autre, il les attise.
4) La direction envisage de refondre la page d’accueil. voire le site entier.

180- Depuis ma crise, il -—=-—=--eeeuuv a un régime strict pour limiter les risques de rechute.
1) s*astreind 2) s"astraint 3) s"astreint 4) s™astraind

181- 1l est contrarié que nOUs =--=--emeuweee ;
1) ne lui en ayons pas parlé 2) nous ne lui en ayions pas parlé
3) nous n’en lui ayons pas parlé 4) nous ne I’en ayons pas parlé
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182- Transmettez cet article & Mare ———-e—eeeeeeeee ,
1) afin qu'il le revoit 2) pour qu’il le revoie
3) bien qu’il revoie 4) quoiqu’il le revoit
183- Les éléves de cette école privée portent des chemises =--seeeceeeanes,
1) rayés bleus et verts 2) rayées bleus et verts
3) rayés bleu et vert 4) rayées bleu et vert
184- Le service -------- je me suis rendu n’a pas pu me renseigner.
1) duquel 2) auquel 3)ou 4) a qui

185- Trouvez la phrase correcte.
1) La plupart des Frangais possédent une voiture
2) La plupart des économistes prédit une rentrée difficile.
3) La basse de la TVA, la plupart des restaurateurs s’en réjouit.
4) J"ai observé les €leves. et la plupart tremble devant ce professeur sévere.

Partie B: Histoire et culture générale franc¢aises

Trouvez la bonne réponse:

186- Sous I’Ancien Régime, -----mmeemeee sont des assemblées extraordinaires qui réunissent
des représentants de toutes les provinces appartenant aux trois ordres de la société:
clergé, noblesse et tiers état.

1) la Chambre d'Etat 2) les Etats généraux
3) le Congres des Etats 4) la Chambre Haute
187 -eeeeeeeeeeaeee est associé a la prise de la Bastille et a I'insurrection populaire de 1789.
1) Le 6 octobre 2) Le 8 mai
3) Le 26 aoit 4) Le 14 juillet
188- La Chouannerie est une guerre civile qui opposa --—--=eeeeeee- dans I'Ouest de la France,
en Bretagne, dans le Maine, I’Anjou et la Normandie, lors de la Révolution frangaise.
1) républicains et royalistes 2) catholiques et protestants
3) I'aristocratie et le clergé 4) les Anciens et les Modernes

189- Lequel des cas ci-dessous n’est pas considéré comme 'un des thémes de la philosophie
des Lumiéres?
1) La dénonciation de I'intolérance
2) La proclamation de I'esclavage
3) La contestation sociale et politique
4) Le combat contre I'injustice et I"ignorance
190- Lors de la premiére Guerre Mondiale, la Triple-Entente est I'alliance militaire de -—-----
======= par opposition a la Triplice.
1) la France. du Royaume-Uni et de la Russie impériale
2) I'Empire allemand. la Double monarchie austro-hongroise et le royaume d’ltalie
3) la France, I’ Autriche-Hongrie et la Russie impériale
4) la Bulgarie. la Grande-Bretagne. I’ Allemagne

191- En France, -------—----— est a la fois agent de ’Etat et agent de la commune en tant que
collectivité territoriale.
1) le maire 2) le préfet 3) le ministre 4) le procureur
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192- Les habitants de I'lle-de-France que I’on connait aussi sous le nom populaire de --—-------

sont appelés les —--eeeeeeeeee- .

1) Hexagone / Parisiens 2) Hauts-de-France / Franciscain

3) Région parisienne / Franciliens 4) France métropolitaine / Métropolitains
193- C’est dans la premiére partie du ---------—--—-- qu’apparaissent les premiers courants

socialistes en France. Les premiers théoriciens socialistes (Saint-Simon, Fourier, Cabet,

Leroux) manifestent une grande imagination; d’ou leur appellation posthume de -------- .

1) XXe siécle / socialistes individualistes
2) XIXe siécle / socialistes utopiques
3) XXe siecle / socialistes anarchistes
4) XVllle siecle / socialistes fabuleux

194- ----ceeeeeeeeee est la plus importante manifestation de théitre et de spectacle vivant en
France, et I'une des plus importantes au monde par le nombre de créations et de
spectateurs réunis.
1) Le Festival d’Avignon 2) Le Festival d’Edimbourg
3) Le Théitre des Osses 4) Le Café-théatre

195- LellThéatre optique permet de projeter des images animées. Ce sont les premiéres
projections sur grand écran du cinéma, avant celles —--—--eceeeue--

1) de Francis Doublier 2) d’Emile Rey naud
3) de Gabriel Veyre 4) des fréres Lumiéres

196- le terme « roman » a été utilisé pour la premiére fois au -—--eeeeeeeeee , pour désigner des
ouvrages littéraires le plus souvent -~—----eeeee-- : la raison en est que ces ouvrages étaient
écrits en langue romane, et non en latin.
1) la Renaissance / burlesques 2) Moyen Age / prosaiques
3) Moyen Age / versifiés 4) la Renaissance / hétérogenes

197- Par ——---—-—-— conclu en aoiit 843, les trois fils survivants de Louis le Pieux, les petits-fils de
Charlemagne, se partagent ses territoires, I'empire carolingien, en trois royaumes.
1) le traité de Versailles 2) le traité de Verdun
3) le traité de Maastricht 4) le traité de Lisbonne

198- Le suffrage universel fut proclamé en France en —-—--veeeeee- Il n’avait alors d’universel
que le nom, les -----ecueee-- -- en étant exclues.
1) 1981 / militaries 2) 1944 / ouvriers
3) 1974 / étrangers 4) 1848 / femmes

199- L’économie frangaise est principalement une économie ------ :
1) de marché 2) d’énergie 3) de service 4) de pétrole

200- Le régime de Vichy est nommé ainsi car
1) le gouvernement siégeait a Vichy, situé en zone llbrc
2) ce régime politique était dirigé par le maréchal Philippe Pétain
3) le président Vichy se nomme lui-méme «chef de I'Etat frangais»
4) le président de la République met en ceuvre une politique de collaboration avec les
nazis et instaure des lois Vichy

Gl ey e bt § 92 it )] gl ;b 90 5 bS] § bl G s



duid )] (guibiit JbS 69 (gundi Gaiel bt § Gl g

Y5 amio 203F M) a5) olea lalllae

201-

202-

203-

204-

206-

207-

H gand Sl U5 ) i i 8 g 2, b

The East India Company was established by -—---eeeeeeex -
1) Indian Government

2) British Government

3) A group of British merchants.

4) Joint efforts of the British and Indian governments

Mahatma Gandhi’s Non-Violence ---------———- allows Killing of the intruders.

1) in certain cases  2) Never 3) Always 4) Often

Who is the founder of Sikhism in the Punjab Province of India?

1) Guru Gobind Singh 2) Guru Nanak

3) Guru Tak Bahadur 4) Guru Arjun Singh

Who was the founder of the Mughal Dynasty in India?

1) Shah Jahan 2) Akbar 3) Aurangzeb 4) Babur
205- Who was the last Viceroy of India?

1) Louis Mountbatten 2) Warren Hastings

3) Lord Curzon 4) Lord Irwin

The concept of -ememee- means release from the cycle of rebirth in Hinduism.

1) Artha 2) Dharma 3) Moksha 4) Kama

Which dynasty founded the first great empire in India?

1) Parama 2) Maurya 3) Chand 4) Dogra

208-

209-

210-

211-

212-

213-

214-

In which year the first mutiny against the domination of British merchants was
launched in India?

1) 1857 2) 1888 3) 1947 4) 1917

Who was the first foreign minister of India?

1) Manmohan Singh 2) Mahatma Gandhi

3) M. N. Roy 4) Jawaharlal Nehru

The -=-=-eeeeeeee=, which took place from March to April 1930 in India, was an act of civil
disobedience led by Mohandas Gandhi to protest British rule in India.

1) Salt March 2) Sepoy Mutiny

3) Jaillianwala Bagh 4) Assassination attempt

Which organization accommodated most of the Indian opposition groups in their fight
against the British rule during the independence movement?

1) Janta Dal 2) Bhartiya Janata

3) Rashtriya Swayamsevak Sangh 4) Indian National Congress

Who was the leader of All India Muslim League in 1913?

1) Sir Syed Ahmad Khan 2) Mohammad Igbal

3) Mohammad Ali Jinah 4) Maulana Abul Kalam Azad

Known as ‘Frontier Gandhi’, ~===e=naeeam-- was an influential Muslim freedom fighter in

the fight against British rule, who pioneered the famous Khudai Khidmatgar (“Servants
of God™) movement in 1929 and it successfully guided it to its destiny.

1) Maulana Mazharul Haque 2) Abbas Ali

3) Asaf Ali 4) Khan Abdul Ghaffar Khan

------------ -- is a Sanskrit epic that concerns the banishment of Rama from his kingdom, the
abduction of his wife Sita by a demon and her rescue, and Rama’s eventual restoration to
the throne.

1) Ramayana 2) Puranas 3) Veda 4) Gita
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215- ---eeeeeeeeeee is a Sanskrit word that can be translated as the “object of human pursuit”
or “goals of man.”
1) Dharma 2) Purushartha 3) Kama 4) Bhavat Giva

gl G ) Hosis $US pol it yd g g )b

216- Who stated the following expression in the United States?
“It is our manifest destiny to over spread and to possess the whole of the continent which
providence has given us for the great experiment of liberty”
1) John O’Sullivan of New York Post in 1845
2) Charlie Goodnight of New York Times in 1866
3) Jay Gould of New York Stock Market in 1869
4) James Monroe in the Monroe Doctrine in 1823
217- The Free Soil Party participated in the presidential elections opposing slavery expansion

into western territories in —-------=--,
1) 1836 and 1840 and 1844 2) 1864 and 1868
3) 1848 and 1852 4) 1856 and 1860 and 1864

218- Benjamin Franklin became a Freemason in a Lodge at -,
1) Boston’s St. Andrews Lodge in 1745 2) Boston’s St. Paul Lodge in 1736
3) Philadelphia’s St. John Lodge in 1743  4) Philadelphia’s Tun Tavern in 1731
219- IBM was founded by ---eeeemmm,

1) Thomas Shelby in 1943 2) Thomas Watson in 1924
3) Thomas Edsall in 1935 4) Thomas Edison in 1929
220- “The Great Commoner” who said “You should not Crucify Mankind upon a Cross of
Gold” refers to -----eeeo-,
I) William Howard Taft in 1893 2) Richard Bland in 1892
3) Horace Boies in 1897 4) William Jennings Bryan in 1896

221- “Love Canal” the site of the long health problem due to toxic chemicals happened in

1) Niagra Falls New York in late 1970s  2) Tempe Arizona in late 1940s

3) Rutgers New Jersey in late 1950s 4) Pensacola Florida in late 1960s
222- “Common Sense” was the pamphlet written by -------- -

1) Benjamin Franklin in 1773 2) John Lock in 1786

3) Thomas Jefferson in 1774 4) Thomas Paine in 1776

223- “The Doomsday Clock™ Was started by -----e-eeev,
1) The American Heart Association in 1949
2) The American Heart Association in 1956
3) The Bulletin of Atomic Scientists in 1955
4) The Bulletin of Atomic Scientists in 1947
224- *The World of Tomorrow™ was the First Presidential Talk to Television by -------- -
1) Kennedy Speech Announcing Cuban Missile Crisis in 1961
2) Hoover Announcing Work on League on Nations in 1928
3) FDR Speech Which Opened N.Y. World Fair In 1939
4) Truman Speech Declaring An End to World War II IN 1945
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225- Who Wrote the First Computer Program?
1) Grace Murray Hopper an Admiral in U.S. Navy (1906-1992)
2) English Mathematician Charles Babbage (1893-1925)
3) Stephen Gwozinak and Steve Jobs (1976)
4) Peter Carl Goldman (1906-1977 )
226- “We were in Danger of Becoming Two Societies One Black One White Separate but
Unequal™ Was the Result of ~——--eeneex 3
1) Kerner Commission Report of 1968 2) Moynihan Commission Report of 1965
3) Kinsey Commission Report of 1963 4) Nader Commission Report of 1958

227- *“Poet of Democracy” Refers to ----------- ‘
1) Jean Toomey (1835-1886) 2) Walt Whitman (1819-1892)
3) Emily Dickenson (1830-1886) 4) William Faulkner (1897-1962)

228- The First TV Network was ---—---—- —
1) ABC IN 1933 2) CBS IN 1935 3) NBC IN 1926 4) PBS IN 1942

229- The First American University was -,

1) Boston College in 1652 2) Yale University in 1642

3) Rutgers University in 1662 4) Harvard University in 1636
230- Hollywood Blacklist Refers to ——-e-eeeuev,

1) 1956 List of Alleged Communists in Hollywood Prepared in L.A.

2) 1952 List of Alleged Communists in Hollywood Prepared in Washington

3) 1959 List of Alleged Communists in Hollywood Prepared in L.A.

4) 1947 list prepared by Hollywood Executives in NY of Alleged Communists
Sympathizers
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B A 3% 3% - 55 % (Japanese Grammar and Vocabulary)

231- RICTELIYABHIELEL, THEL(NSTEC ),
1) H-Leh)EEIn
2) &L LTI
3) Bole>TES
4) T CWELTETH
232- ZRIRSFEI0AEZRATE, F4%2( IR TEEBICEAMWTES,

1) 287 2) (ZFR <
3) () A 4) 2R HT
233- HO¥ER, —%£( ), BOFAEELE,
D zbtsT 2) Iz T
3) (2¥ 7 4 12&-T
234- AMORIBPILIET(  IRFTE-TRNT RS IZBINELE,
1) YA XA AERES ]
3) HXhX 4) HXox
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235- #RMRAIZAT( YBIEBIALDRIZF>THET,

1) E-gw|c 2) NN 3) kP 4) ¥1z4
236- KR¥OREI2\N( ), ¥ TR kLWTT L,
1) &)iz 2) ¥ ¥t 3) Faax(ZL T 4) Bzl

237- FERSABIALOT, 5 BI2FHIZ( )o KALLET,
1) WO TR EH L
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